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Winter 2011
PRIVATE 
Principles of Macroeconomics


Problem Set 11
(all figures in billions of dollars) – You MUST include a Graph of the overall picture!
February 23, 2012 - 15 points
** Answer the following problems and questions on a SEPARATE piece of paper.

C = 550 + 2/3 YD



C:
Consumption Expenditures


YD = Y - T




YD:
Disposable Income


T = 120 + t Y





Y:  Personal and National Income


I = 300 – 400 i 



T:
Total Tax Revenues


G = 550




I:
Investment Expenditures


x - m = -166




G:
Government Expenditures


t = 10%
t:
Income Tax Rate

MS  = $850




i:
Interest Rate

P0





x-m:
Net Exports







MS :
Nominal Money Supply

MD  = 19 + .3*Y – 270 i


P0:
Base Year Price Level

P0





MD:
Nominal Money Demand
All Questions are answered sequentially, including the information previously added.

1)
Write out the goods market equation. (1 pt)


2)
Write out the money market equation.  (2 pts)


3)
What is the equilibrium interest rate and equilibrium national income?  


(2 pts)   (round to nearest percent)


4)
What is the government budget deficit? (surplus or deficit) (2 pts)

5)
The Federal Reserve Open Market Committee decides to alter growth in the economy to reach $2,785 billion for National Income.  What is the interest rate needed to reach this level?  (1 pt)


6)
What is the money supply change needed to arrive at this interest rate?  (1 pt)  Does the FOMC need to buy or sell securities? (1 pt)


7)
What is the equilibrium National Income and interest rate if lump-sum taxes increase by $30 billion?  (2 pts) 


8)
What is the government budget deficit (now)?  (surplus or deficit) (1 pts)  

9)
What is the level of  Total and National Savings (now)?  (2 pts)

